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Section A

Ques No.

Answer Key

C) Vakataka

A) Both (A) and (R) are correct and (R) is the correct reasoning of (A)

C) These norms were not followed universally

C) Use of Bricks

D) Vishnu

A) a-i, b-ii, c-iv, d-iii

B) Shahjehan Begum

C) Akbar

B) II, 11, 1V, |

B) Guru Gobind Singhiji

C) Revenue from the land was the economic mainstay of the empire

12

B) Women worked in the fields with men

C) They believe that on death they will be united with Shiva

14

B) a-2, b-4, ¢-3, d-1

15

D) Mughal

16

D) They gained significant control over land

17

B)IL Il & IV

18

D) Hyderabad : Maulavi Ahmadullah Shah

19

C) Vallabhbhai Patel

20

B) Gopal Krishna Gokhale

21

C) British Govt. permitted detention without trial







